2023 Booklist



Villanova College Coorparoo Year 12

EXAMS

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Clear Mesh Pouch A5 (260 x 200mm)	\$4.90	1	\$4.90		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$3.97	1	\$3.97		
Highlighter Textliner Ice Faber Yellow	\$1.28	1	\$1.28		
Ballpoint Pen Black Staedtler Stick Medium	\$0.68	2	\$1.36		
Pencil 2B	\$0.55	2	\$1.10		
Ruler Plastic 15cm	\$0.63	1	\$0.63		
Sharpener Metal 1 Hole	\$0.65	1	\$0.65		
Eraser Faber Castell Dust Free Large with Sleeve	\$0.60	1	\$0.60		
	Total		\$14.49		

List A All students MUST have headphones

·		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Sheet Protectors A4 Pkt 10	\$0.92	5	\$4.60		
Binder A4 2Ring 25MM BLACK	\$3.68	3	\$11.04		
Dividers Plain Colours 5 Tabs	\$1.58	1	\$1.58		
Coloured Pencils Micador Basics 12's	\$3.49	1	\$3.49		
Loose Leaf Reinforced Refill Paper Ruled A4 100 Sheets	\$3.48	1	\$3.48		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.15	1	\$4.15		
Ballpoint Pen Black Staedtler Stick Medium	\$0.68	2	\$1.36		
Ballpoint Pen Blue Staedtler Stick Medium	\$0.68	2	\$1.36		
Ballpoint Pen Red Staedtler Stick Medium	\$0.68	2	\$1.36		
Pencil HB Single	\$0.58	2	\$1.16		
Ruler Plastic School 30cm Clear	\$0.63	1	\$0.63		
Sharpener Metal 1 Hole	\$0.65	1	\$0.65		
Eraser Micador Large 3020	\$0.40	1	\$0.40		
Headphones- Mconnected Earbuds with Mic and Case	\$14.44	1	\$14.44		
	Total		\$49.70		

AccountingHighlighters from List a required for this subject.

	Specified		Order		
Product	Price	Qty	Amount	Qty	Your calc
Account Book Collins A24 Ledger	\$4.31	1	\$4.31		
Account Book Collins A24 Treble Cash	\$4.31	1	\$4.31		
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Display Book A4 20 Pocket Assorted	\$1.89	1	\$1.89		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.15	1	\$4.15		
	Total		\$16.07		

Biology

Only purchase the Biozone units 3 & 4 if you DO NOT have from last year as they are a carry over item from year 11.

Labcoat is required. Please purchase from the uniform shop.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Notebook Hard Cover A4 200 pg	\$5.51	2	\$11.02		
Biozone QCE Biology Units 3 & 4 9781927309865	\$44.95	1	\$44.95		
	Total		\$57.38		

Business

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Display Book A4 20 Pocket Black	\$1.89	1	\$1.89		
	Total		\$1.89		

Cert III Business

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Display Book A4 20 Pocket Black	\$1.89	1	\$1.89		
	Total		\$1.89		

Cert III Fitness

** Course material will be provided by the teacher

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Cert I Furnishing

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Document Wallet A4 Button Clear	\$1.60	2	\$3.20			
Pencil HB Single	\$0.58	2	\$1.16			
Eraser Micador Large 3020	\$0.40	1	\$0.40			
	Total		\$4.76			

Cert III Information, Digital Media & Technology

	-		pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Document Wallet A4 Button Clear	\$1.60	2	\$3.20		
	Total		\$3.20	,	

ChemistryLabcoat is required. Please purchase from the uniform shop.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Notebook Hard Cover A4 200 pg	\$5.51	2	\$11.02		
	Total		\$12.43		

Chinese

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
	Total		\$1.41		

Design

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Artline Drawing System Pens Wallet of 6	\$25.36	1	\$25.36		
Pencil 2B	\$0.55	2	\$1.10		
	Total		\$26.46		

Digital Solutions

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Document Wallet A4 Button Clear	\$1.60	1	\$1.60		
	Total		\$3.01		

Diploma of Business

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
	Total		\$1.41		

Drama

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 48 Pg	\$0.87	1	\$0.87		
Manilla Folder F/C Blue	\$0.42	1	\$0.42		
	Total		\$1.29		

Earth and Environmental Science

Labcoat is required. Please purchase from the uniform shop.

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Notebook Hard Cover A4 200 pg	\$5.51	2	\$11.02		
	Total		\$12.43		

Economics

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
	Total		\$2.82		

Engineering

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
	Total	\$1.41			

English

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
	Total		\$2.82		·

Film, Television & New Media

Headphones are required from general stationery list

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
Manilla Folder F/C Blue	\$0.42	1	\$0.42		
Micro SDHC Card Class10 32GB	\$13.60	1	\$13.60		
USB 32 GB Flash Drive	\$12.55	1	\$12.55		
	Total		\$27.98	•	

English as an additional language

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
	Total		\$2.82		

Essential English

-			pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
	Total		\$2.82		

Essential Mathematics

Ruler from general stationery required. Only purchase calculator if you do not have it from previous years.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.74	2	\$3.48		
Calculator Scientific Casio FX82AU Plus II 2nd Edition	\$41.95	1	\$41.95		
	Total		\$45.43		

Geography

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
Display Book A4 20 Pocket Green	\$1.89	1	\$1.89		
	Total		\$4.71		

General Mathematics

Ruler from general stationery required. Only purchase calculator if you do not have it from previous years.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.74	2	\$3.48		
Calculator Scientific Casio FX82AU Plus II 2nd Edition	\$41.95	1	\$41.95		
	Total		\$45.43		

Hospitality Practices

Apron & Cap is required. Please purchase from the Hospitality Department.

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Italian

		Sp	ecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	1	\$1.41		
	Total		\$1.41		

Legal Studies

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
Display Book A4 20 Pocket Green	\$1.89	1	\$1.89		
	Total		\$4.71		

Literature

			ecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
	Total		\$2.82		

Mathematical Methods

Ruler required from List A.

Only purchase the calculator if you do not have it from a previous year.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Calculator Graphics Casio FX-CG50AU	\$264.60	1	\$264.60		
Exercise Book A4 128 Pg (with margin)	\$1.74	2	\$3.48		
	Total		\$268.08		

Modern History

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.41	2	\$2.82		
Display Book A4 20 Pocket Green	\$1.89	1	\$1.89		
	Total		\$4.71		

Music

Headphones are required from general stationery list (List A)

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 48 Pg	\$0.87	1	\$0.87		
Manilla Folder F/C Blue	\$0.42	1	\$0.42		
USB 32 GB Flash Drive	\$12.55	1	\$12.55		
	Total		\$13.84		

Music Extension

Headphones are required from general stationery list (List A)

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 48 Pg	\$0.87	1	\$0.87			
Manilla Folder F/C Blue	\$0.42	1	\$0.42			
	Total		\$1.29			

Physical Education

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 64 Pg (with margin)	\$1.01	1	\$1.01		
Highlighter Textliner Ice Faber Yellow	\$1.28	1	\$1.28		
	Total		\$2.29		

Physics

Please purchase a black apron from KMart (labcoat not required)

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.41	1	\$1.41			
Notebook Hard Cover A4 200 pg	\$5.51	2	\$11.02			
Safety Glasses Utility Clear	\$4.73	1	\$4.73			
	Total		\$17.16			

Religion & Ethics

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.41	1	\$1.41			
	Total		\$1.41			

Specialist Mathematics

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.74	2	\$3.48		
	Total	\$3.48			

Study of ReligionHighlighters from List A required for this subject.

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.41	1	\$1.41			
	Total	\$1.41				

Visual Art

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Visual Arts Diary A4	\$5.88	1	\$5.88		
Lumograph Pencils Black Tin of 6	\$11.39	1	\$11.39		
	Total		\$17.27		

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.